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9.1 - 9.3 Practice Worksheet

9.1 Pythagorean Theorem and Triples
In Exercises 1- 3 find the value of x. Then tell whether the side lengths form a
Pythagorean triple.
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In Exercises 7 and 8, tell whether the triangle is a right ttiangle. X+ ‘-H)Cz 8:1:
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In Exercises 9-12, verify that the segment lengths form a triangle. Is the triangle

acute, right, or obtuse? St7178 v 5
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13. A ski lift forms a right triangle, as shown. Use the Pythagorean Theorem

(Theorem 9.1) to approximate the horizontal distance traveled by a person
riding the ski lift. Round your answerto the nearest whole foot. =]
%563 1,

o 170t

o ol 2
6\70) Pt = (’;75‘())
\3la8700 + )(L’/ 5_‘50&03500
x%= 31,9300
YR 5,29. 7014+




9.2 Special Right Triangles

In Exercises 1-3, find the value of x. Write your answer in simplest form.
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In Exercises 7 and 8, find the area of the figure. Round decimal an¢
nearest tenth. '
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9. A 12-footladderis leaning up against a wall, as shown. How high does the ladder

reach up the wall whenx is 30°? 45°? 60°? Round decimal answersto the nearest
tenth, if necessaryv.
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9.3 Geometric Mean

in Exercises 1 and 2, identify the similar triangles.
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In Exercises 3-5,find the value of x.

I, A AN 2 )

3
3

/ LG N
AN @—'ﬁ S R
g B
< Y

in Exercises 6-8, find the geometric mean of thf} two numbers | Y
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12. You are designing a diamond-shapedkite. You know that 43 = 38.4 centim eters,
« BC = 72 centimeters, and AC = §1.6 centimeters. fx_fgg,_wm to use a straight
crossbar BD. About how long should it be?
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